This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 9 - Fountainbridge-Craiglockhart

9,028

3

2,258

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Christopher COWDY	Scottish Conservative and Unionist	2,399
Fraser John Ashmore GRAHAM	Scottish Liberal Democrats	642
David KEY	Scottish National Party (SNP)	2,051
Gregor MASSON	Scottish Libertarian Party	41
Megan MCHANEY	Scottish Green Party	1,800
Fraser Kenneth RAMSAY	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	69
Val WALKER	Labour and Co-operative Party	2,026
	Total	9,028

Candidate Christopher COWDY Elected with 2,399 votes, being in excess of the quota of 2,258

This report contains the transfers results.

## Stage 2 - Surplus of Christopher COWDY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Fraser John Ashmore GRAHAM	827	0.05877	48.60279
Transfer to David KEY	42	0.05877	2.46834
Transfer to Gregor MASSON	44	0.05877	2.58588
Transfer to Megan MCHANEY	89	0.05877	5.23053
Transfer to Fraser Kenneth RAMSAY	122	0.05877	7.16994
Transfer to Val WALKER	595	0.05877	34.96815
No further preference	680	0.05877	39.96360
Not transferred due to rounding			0.01077
	Total		141.00000

This report contains the transfers results.

## Stage 3 - Exclusion of Gregor MASSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Fraser John Ashmore GRAHAM	9	1.00000	9.00000
Transfer to David KEY	4	1.00000	4.00000
Transfer to Megan MCHANEY	7	1.00000	7.00000
Transfer to Fraser Kenneth RAMSAY	8	1.00000	8.00000
Transfer to Val WALKER	6	1.00000	6.00000
Transfer to Fraser John Ashmore GRAHAM	7	0.05877	0.41139
Transfer to David KEY	1	0.05877	0.05877
Transfer to Megan MCHANEY	1	0.05877	0.05877
Transfer to Fraser Kenneth RAMSAY	18	0.05877	1.05786
Transfer to Val WALKER	5	0.05877	0.29385
No further preference	7	1.00000	7.00000
No further preference	12	0.05877	0.70524
Not transferred due to rounding			0.00000
	Total		43.58588

This report contains the transfers results.

# Stage 4 - Exclusion of Fraser Kenneth RAMSAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Fraser John Ashmore GRAHAM	17	1.00000	17.00000
Transfer to David KEY	6	1.00000	6.00000
Transfer to Megan MCHANEY	11	1.00000	11.00000
Transfer to Val WALKER	14	1.00000	14.00000
Transfer to Fraser John Ashmore GRAHAM	36	0.05877	2.11572
Transfer to David KEY	1	0.05877	0.05877
Transfer to Megan MCHANEY	5	0.05877	0.29385
Transfer to Val WALKER	27	0.05877	1.58679
No further preference	29	1.00000	29.00000
No further preference	71	0.05877	4.17267
Not transferred due to rounding			0.00000
	Total		85.22780

This report contains the transfers results.

## Stage 5 - Exclusion of Fraser John Ashmore GRAHAM

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David KEY	56	1.00000	56.00000
Transfer to Megan MCHANEY	142	1.00000	142.00000
Transfer to Val WALKER	303	1.00000	303.00000
Transfer to David KEY	22	0.05877	1.29294
Transfer to Megan MCHANEY	92	0.05877	5.40684
Transfer to Val WALKER	384	0.05877	22.56768
No further preference	167	1.00000	167.00000
No further preference	372	0.05877	21.86244
Not transferred due to rounding			0.00000
	Total		719.12990

This report contains the transfers results.

## Stage 6 - Surplus of Val WALKER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David KEY	390	0.06245	24.35550
Transfer to Megan MCHANEY	872	0.06245	54.45640
Transfer to David KEY	39	0.00367	0.14313
Transfer to Megan MCHANEY	138	0.00367	0.50646
No further preference	1,087	0.06245	67.88315
No further preference	834	0.00367	3.06078
Not transferred due to rounding			0.01105
	Total		150.41647

This report contains the transfers results.

## Stage 7 - Exclusion of Megan MCHANEY

2,025.95285

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David KEY	1,375	1.00000	1,375.00000
Transfer to David KEY	365	0.06245	22.79425
Transfer to David KEY	44	0.05877	2.58588
Transfer to David KEY	100	0.00367	0.36700
No further preference	585	1.00000	585.00000
No further preference	507	0.06245	31.66215
No further preference	143	0.05877	8.40411
No further preference	38	0.00367	0.13946
Not transferred due to rounding			0.00000
	Total		2,025.95285